Maths Week 13

Parents please show them the PowerPoint slides for Year 3&4 to introduce them to the topic.  

Your child knows which sheets they usually do in class. The sheets are labelled with:
D means Developing (easy)
E means Expected (middle)
GD means Greater Depth (challenging) 

Once they finish the developing, they can do the expected worksheet for their challenge. 

The expected children can progress to greater depth once they finish the expected questions. 

Make sure you write your L.O and date in your book. There is one PowerPoint for each day.  

Please note- You do not have to print out any work. Children should date and number their work and show any working out in their books like they usually do in class.












Week 13- Wednesday 17th June 2020
Please click on this link for more information - https://www.bbc.co.uk/bitesize/clips/zs4xn39
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Pictograms

1a. True or false? The pictogram below
shows the results of the tally chart. Explain
your answer.

1b. True o false? The pictogram below
shows the results of the tally chart. Explain
your answer.
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drawing a pictogram where
2 children.

knows more children swim on
Tuesdays than Mondays, but fewer children
swim on Tuesdays than Thursdays.

one picture
James knows more children play the
keyboard than guitar, but fewer children
play drums than recorder.

the possibiliies.

b4
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Complete the pictogram showing one of |, Complete the pictogram showing one of

the possibiliies.

3a. lan draws a pictogram to show the.
minibeasts that Year 3 saw in the garden.

3b. Amelia draws a pictogram fo show
‘when Ks2 children have their birhday.
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We saw 40 worms.

@

4 children have thei
March.

hdayin | Q

fy s he comet? Explin your answer.

s she comect? Explcin your answer.
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4a. True or false? The pictogram below
shows the results of the tally chart. Explain
your answer.

4b. True or false? The pictogram below
shows the results of the tally chart. Explain
your answer.

Cakes Sola | Nomber of Cakes| Day | Number of ananas Sold
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sa. Filip is drawing a pictogram where
one picture = 5 children.

Filip knows more children have blonde hair
than ginger, but fewer children have
blonde hair than black.

sb. Neetu is drawing a pictogram where
one picture = 5 children.

Neetu knows more children have brown eyes
than grey, but fewer children have

green eyes fhan blue,

Wi Colowr Nomber of Ghidren Ere Colow Nomber of Cidren
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Complete the pictogram shoy

g one of

Complefe the pictogram showing one of

e the possibilities. N the possibilities.
sa. Sue draws a pictogram fo show Ks2's | b. Jay draws a pictogram to show Ks2's
favourite author. Each child vofed once. | favourite dessert. Each child voted once.
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A quarter of the number of children
that voted Dahl, voted Morpurgo.
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<y 13 she comsct? Explain your answr.

7 s he conect? Explin your answer.





